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名前 解答

問

① ②

③ ④

⑤ ⑥

⑦ ⑧

⑨ ⑩

⑪ ⑫

⑬ （－23）×（＋3）×（－5）×（－6）（＋12）×（＋4）×（＋3）×（－2）

＝－（12×4×3×2） ＝－（23×3×5×6）

＝－288 ＝－2070

（＋67）×（＋1）×（－8） （＋56）×（＋2）×（－3）

＝－（67×1×8） ＝－（56×2×3）

＝－536 ＝－336

（－７）×（＋45）×（－3） （＋34）×（－6）×（－2）

＝＋（7×45×3） ＝＋（34×6×2）

＝＋945 ＝＋408

（＋89）×（＋6）×（－1） （＋78）×（＋5）×（－2）

＝－（89×6×1） ＝－（78×5×2）

＝－534 ＝－780

（＋66）×（－4）×（－5） （－2）×（＋91）×（－3）

＝＋（66×4×5） ＝＋（2×91×3）

＝＋1320 ＝＋546

（－56）×（－2）×（－3） （＋67）×（－1）×（－8）

＝－（56×2×3） ＝－（67×1×8）

＝＋336 ＝－536

次の計算をしなさい。

（＋12）×（＋３）×（＋4） （＋23）×（＋４）×（＋5）

＝＋（12×3×4） ＝＋（23×４×5）

＝＋144 ＝＋460
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